MORIAH COLLEGE — NVELSE FONCTIOAS 3y

Question 1

The following is the graph of the function y= f(x). } A(1.2,2.3)

i. Explain why the function does not have an inverse function
ii. Given that the point 4 is a stationary point, and that y = f(x) is an odd function,

restrict the domain so that the origin is in it and y = f(x) has an inverse function.

Question 2

i Let f(x)=2+¢". Find the equation of the f™'(x), the inverse function
ii. ~ Drawthe graphs of f(x) and f~'(x) on the same axes.

Question 3

Sketch the curve of y =—2sin™ 3x, stating clearly the domain and range of the graph

Question 4
1 x2
Using the substitution » = 2x>, find the value of j4 : ldx. Round off your answer to 2
X +

0
decimal places.




Question 5

The curve shows the graph of the function
f(x)=sin’x

i. Find the coordinates of the stationary péints Aand B
ii. Calculate the shaded area
iii. Let g(x)= %x —%sin 2x +Lsin 4x

Show that g'(x) =sin* x

iv. Using part (iii) or otherwise, find the volume of the body generated by rotating the
shaded area around the x-axis. Present your answer in exact form.
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